


The angles at a point (full turn) add up to 
360 degrees.

The angles in a straight line add up to 180 
degrees.



The angles in a right angle add up to 90 
degrees.



The angles at a point (full turn) add up to 
360 degrees.















No, he is incorrect. The angles in a 
straight line should add up to 180 degrees 
but the two angles add up to 181 degrees





Angle ABD = 70° as ABD is an isosceles triangle.
Angle ADB = 40° as the angles in ABD add to 180°
Angle CBD = 110° as the angles in a straight line add up to 180 
(angle ABD = 70°)
Angle BDC = 35° as triangle BCD is isosceles.
Therefore angle ADC is 75° as angle ADB = 40 and BDC = 35
No it is not a right angle.
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